"Fte OS 180 G

e6 feet (180cm) offset dish antenna
with rolled lip edges.

efasy assembly & strong Az/El
mount.

eTripod struts LNB supporter.

@ ©EBLOO OREID
Q S \4
S (2
;Av \*f/ 0
: (3
(9
©

jJ $3°~3 1/2"

02-A810-115A (SP0O7-031>

()| Quam  [MEX35mmM 1]G)a M10 HEX NUTH2
(@)|fm M&*12mm 3 |(10|f—cmmw [M10%130mm |2
(38 M& NUT 3 |W)|(m M10¥20mm |4
(%)| o [M6% 4 0mm 1]/9© M10 WASHER |4
SE M6 HEX NUT|2 (36 M16 NUT 2
©®)|4m M8%15mm 10/(9© M16 WASHER|2
@4 M8 HEX NUT/10|(5)gm M10%30mm 4
(8),fm M1I0%25Smm |2 |(E)e= M4x15mm 1

@) o M4 NUT 1

2011'08.04




